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QUESTION 1

Many applications run for long periods of time and can eventually transition to broken states. What Kubernetes element
can be used in a Pod configuration to make it possible for the cluster to identify and act on broken states? 

A. Controllers 

B. Replicas 

C. Readiness Probe 

D. Liveness Probe 

Correct Answer: D 

 

QUESTION 2

The IBM Cloud Kubernetes Service cluster autoscaler is available for standard clusters that are set up with which of the
following networks? 

A. VPN 

B. Public 

C. Hybrid 

D. Private 

Correct Answer: B 

 

QUESTION 3

Which of the following describes a Watson Speech-to-Text custom language model? 

A. Expands a base model defining a set of production rules for transcribing strings 

B. Provides support for additional, custom languages with Watson Speech to Text 

C. Is used to expand and tailor the vocabulary of a base model to include domain-specific terminology 

D. Is used to adapt a base model to your environment and speakers 

Correct Answer: A 

 

QUESTION 4

A developer is building an application on IBM Cloud that needs a token-based OAuth authorization protocol and mutual
TLS as a security feature when making calls to IBM Messaging Queue Service. Which application integration service
should the developer use? 
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A. IBM Key protect for Message Queues 

B. IBM API Gateway 

C. IBM Developer toolkit Loopback application 

D. IBM API Connect Transport Layer Security (TLS) 

Correct Answer: C 

 

QUESTION 5

Which two of the following are benefits of a Content Delivery Network (CDN)? 

A. Connects high speed direct links between your account and theirs to provide reliable low latency connections 

B. Mitigates distributed denial of service (DDoS) attacks, man-in-the-middle attacks, and other common attacks on web
sites 

C. Copies web sites to a central location to deliver fast responses to improve customer satisfaction 

D. Provides infrastructure and bandwidth in planned remote locations at a predefined hourly rate 

E. Decreases impacts to website performance by reducing the effects of spikes or surges in demand 

Correct Answer: AB 
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